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STATE SSHBOL INPUT Action

0 $ ccd$ Shifts
03 $c cd$ Shifts

033 $cc d$ Shuffle
0334 $ccd $ Red C→d

0336 $c[C$ pedcrscc

036$1 $ Redcrscc

02$C $ ERROR

which is correct

because SAYcccd
STATE SYMBOL INPUT Action

0 $ cdd$ Shifts
03 $c dd$ Shift 4

034 $cd_d$ Redcsd

036$d d$ Red 'C→cC

02$C d$ Shifts

0/24 $Cd $ Rdcrd

025$ @ $ Rdsoscc

OL $5 $ Acct
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C RC 2) thee

STARK Symbols INPUT Action

0 $ ccd$ 53

03$c cd$ s }

033 $4 d$ sci

0334 $ccd $ ERROR
-Latara

STAQK SYMBOLS KMT ACT

0 $ ccd$ 536

036 $C ed$ 536

03636 $cc d$ Sht

0363647 $cc§$ rcrsd

0363685 $cI $ tC→cC

03685 $cC $ rC→cc

o $C $ Ethan


